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1) A nation with fixed quantities of resources is able to produce any of the following combinations of capital goods and consumer goods:
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These figures assume that a certain number of previously produced capital goods are available in the current period for producing consumer goods.

a) Using the data in the table, graph the PPF. (1 point)
b) Does the principle of “increasing opportunity cost” hold in this nation? Explain briefly. (2 points)  
· The principle of increasing opportunity cost states that, as you (in this case the nation) increase the production of one good, the opportunity cost of producing and additional good will increase. In this case, the production of consumers good is increasing while the production of capital goods is decreasing, so the principle is hold in this nation as the opportunity cost of producing capital goods increases every time more as the production of consumer good increases. In other words, by producing consumer goods, the nation is “sacrificing” more and more the alternative of producing capital goods as a result of choosing the other option, so it does increase the opportunity cost, in this case for Capital Goods.
c) If this country chooses to produce both consumer goods and capital goods, what will happen to the PPF over time? Why? (2 points)
· If the country chose to produce both, consumer goods and capital goods, the PPF will increase as well (move upward), since now, not only consumer goods are being produced, but also capital goods. As a consequence, the graph will increase as well, until the capacity (quantity) and resources are available to produce both goods at the same time. 
Now suppose that a new technology is discovered that allows twice as many consumer goods to be produced with each capital good.

d) Illustrate (on your original graph) the effect of this new technology on the production possibilities frontier. (1 point)
· Illustrated with purple color.

e) Suppose that before the new technology is introduced, the nation produces 2 capital goods. After the new technology is introduced, the nation produces 18 consumer goods. What is the effect of the new technology on the production of capital goods? (Give the number of capital goods before and after the change.) (1 point)
· The effect that the new technology has over the nation is that it decreases the capital goods in order to produce the consumer goods. In other words, with the production of consumer goods, in this case 18, after the new technology, the capital goods must have decreased from 2 to 1, in order to have enough capacity to produce the consumer goods.
2) Suppose you have a choice of working full-time during the summer or going full-time to summer school. Summer tuition and books are $2,200. If you worked, you could make $7,000. Your rent is $1,000 for the summer, regardless of your choice. What is the opportunity of your choice of going to summer school? (1 point)
· The opportunity cost, is the highest valued alternative that must be sacrificed as a result of choosing an option. In this case, if we choose to go to summer school, the opportunity of my cost would be, financially, $9,200, since we’re considering the $2,200 of books and tuition that are being paid and the $7,000 of work that are not payed. Rent is pointless when evaluating the opportunity of the choice, since it’s going to stay the same regardless of what we pick. On the other hand, seen from a more pedagogical perspective, the value of choosing summer school, is that you can have the opportunity of finding a better job, maybe earn more money that the one you would have earned in the other work, a higher level of education, among others.
3) What would a straight-line production possibilities frontier between grape juice and apple juice on Fruity Goodness Orchards say about opportunity costs? (1 point)
· A straight-line production possibility frontier between grape juice and apple juice, says that there is always a constant tradeoff. This means that the same amounts of goods decreases and increases every time there is an exchange and so for the opportunity cost, this means that there’s always going to be the same amount of goods exchanged for others.  So, the option of picking one or another is going to be the same, as both goods require the same things to be produced and the cost of picking one is the same as picking the other one.
4) Use economics to explain why people smoke even though they know smoking is not good to their health? (2 points)
· If we would decide to economically explain why people smoke even though they know it’s not good for their health, we can start by saying that those persons are had the chance to pick between smoking and doing something else so, they are using the opportunity cost to decide that they would rather use their time smoking, than doing something else that is not as harmful for their health as smoking. Likewise, we can also see it as a purposeful behavior manner, since they were the ones who autonomy decided they wanted to smoke and that it was for their best own interest. In other words, they put their personal interests, over the rest. 
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